Montageanleitung | Instructions de montage
Assembly Instructions| Instrucciones de montaje

WF323402/WF323403

@ This set comes in 2 boxes. If you do not receive a full set of 2
boxes, please contact our customer service.

@Dieses Set wird in 2 Schachteln geliefert. Wenn Sie nicht ein
komplettes Set von 2 Boxen erhalten, kontaktieren Sie bitte unseren

Kundenservice.
@Ce set est livré en 2 boites. Si vous ne recevez pas un jeu
complet de 2 boites, veuillez contacter notre service clientele.

01/17




IMPORTANT ! KEEP FOR FUTURE REFERENCE : READ CAREFULLY

. To be assembled by an adult. Assembly must be checked by an adult before use

* WARNING ! Keep all screws, small parts and plastic bags out of the reach of children

* Properly identify all parts before assembling

* Never use your item if any of its parts are broken or missing

* Should any problems arise, please contact our After Sales Service

* Manufacturer's instructions shall be followed at all times

* Care: Clean with a soft, dry doth. In case of larger stains, carefully rub with a slightly damp, non-
abrasive sponge

. * Do not jump on the bed

F [l IMPORTANT ! CONSERVER POUR REFERENCE ULTERIEURE : LIRE ATTENTIVEMENT )

fele montage doit étre effectué par un adulte. Le montage doit étre vérifié par un adulte avant
utilisation
* ATTENTION ! Tenir les vis, les petites piéces et les sachets en plastique hors de portée des enfants
* |dentifiez correctement toutes les piéces avant de les assembler
* N'utilisez jamais votre article si I'une de ses piéces est cassée ou manquante
* En cas de probléme, veuillez contacter notre service aprés-vente
* Les instructions du fabricant doivent étre respectées a tout moment
* Entretien : nettoyer avec un chiffon doux et sec. En cas de taches plus importantes, frotter
soigneusement avec une éponge non abrasive légérement humide. légérement humide et non
abrasive
. * Ne pas sauter sur le lit

WICHTIG ! ZUM SPATEREN NACHSCHLAGEN AUFBEWAHREN: SORGFALTIG LESEN )

"+ Muss von einem Erwachsenen zusammengebaut werden.Der Zusammenbau muss vor dem
Gebrauch von einem Erwachsenen uberprift werden :
* WARNUNG! Bewahren Sie alle Schrauben, Kleinteile und Plastikbeutel auRerhalb der Reichweite
von Kindern auf
* Kennzeichnen Sie vor dem Zusammenbau alle Teile richtig.
* Benutzen Sie Ihren Artikel niemals, wenn Teile gebrochen sind oder fehlen
i * Sollten Probleme auftreten, wenden Sie sich bitte an unseren Kundendienst
.« Die Anweisungen des Herstellers sind stets zu befolgen
* Pflege: Mit einem weichen, trockenen Tuch reinigen. Bei gréReren Flecken vorsichtig mit einem

leicht feuchten, nicht scheuernden Schwamm abreiben. nicht scheuernden Schwamm

. = Nicht auf das Bett springen

02/17




Q More Tips Q

English - Before installation, you can place the parts on a carpet or other soft
fabric, in order to avoid damaging your floor.

Francais - Avant l'installation, vous pouvez placer les pieces sur un tapis ou un
autre tissu doux, afin d'éviter d'endommager votre sol.

Deutsch - Vor der Installation kénnen Sie die Teile auf einen Teppich oder ein
anderes weiches Material legen, um eine Beschadigung lhres FuBbodens zu
vermeiden.

English - For your and your family's safety, please do not jump on beds,
especially with hydraulic structures. When need to move bed, please work with
more than one person to lift, not push, to avoid scratching your floor and
hurting the stability of the bed.

Francais -Pour votre sécurité et celle de votre famille, ne sautez pas sur les
lits, en particulier sur les structures hydrauliques. Lorsqu'il est nécessaire de
déplacer le lit, il est préférable de travailler a plusieurs pour le soulever, et
non pour le pousser, afin d'éviter de rayer le sol et de nuire a la stabilité du lit.
Deutsch - Zu |hrer Sicherheit und der Ihrer Familie sollten Sie nicht auf Betten
springen, insbesondere bei hydraulischen Konstruktionen. Wenn Sie das Bett
bewegen missen, heben Sie es bitte mit mehreren Personen an und schieben
Sie es nicht, um den Boden nicht zu verkratzen und die Stabilitdt des Bettes
nicht zu beeintrachtigen.




04/17




WF323402

X1

X1

05/17




WF323403

L VA AVAN A V4

X1 @ X1
P
[ x1 @ \ X1
<
W X2 @ \ X12
\ X2 m \ X1
\ x2 | (@ / X4

Drawer board

X1

06/17




Hardware List-Hardware-Liste-Liste du matéeériel

WF323403
O T =@ Eﬂ @ <> xe
M8*13 M8 Strap magic tape
B El R ® < e @ @ X4
M8*20 Black plastic buckle (B)
®) .
O [ »® » & U x
M8*35 Iron buckle Black plastic buckle (A)
@ g X5 @ Q X2 @ é X2
M8*40
9 g X6 @ F=tZ  xi @ ﬁ X8
M8*55 o scm Pulley
3 @ X5 X1
M8*p22




(a)Imm

M8*20
BX4pcs

©mmmy

M8*40
DX4pcs

()

M8*¢22
FX4pcs

@

M8*55
EX4pcs




(a)m
M8*20

BX8pcs

9/17




|

M8*20
BX4pcs

()

4

(a)

10/17




con I‘OJ

Remote t
25X1pc

oz
Power cord
24X1pc

6

11/17




12/17




M8*20
BX2pcs

(o)

8

|

13/17




14/17




Pay attention to the orientation

Achten Sie auf die Ausrichtung

11

Attention a l'orientation

AXb6pcs

15/17




17/17




of compliance

Berification

tance

of compl

N

—
=
—
R
=
e
=
—
[
o

%
¥

Y
-

of compliance

Verification

B

Verification of Compliance

Varffication Mo M2 3020083-F01C01

Narion and adtmes ol Shenzhen Hongzhengyu Technology Co., LTD
: Shenzhen baoan disticl rock street industrial s cience and technology

Applicant industrial park of 2 Haifan lanyu 35 fioor of A

At A ackimes of Shenzhen Hongzhengyu Technology Co., LTD
Shenzhen baoan district rock street industrial science and technalogy

Mamufachirar industrial park of 2 Haifian lanyu 3 5 foor of A

Product nama: Lamp strip
HZY-2835-1200-12V, HZY-2835-300-5V, HZY-2835-600-5V,
HZY-2835-1200-5V, HZ Y-2835-60D- 12V, HZY-2835-500-24V,
HZY-2835-1200-24V, HZY-2B35RGB-600-5V, HZY-2B35RGE-60D-12V,

Product model (5): HZY-5050-300-5v, HZY-5050-800-5%, HZY-5050-300-12V,
HZY-5050-600- 12V, HZ Y-5050-600-24V, HZY-5050RGE-300-5V,
HZY-5050RGE-600-5V, HZY-5050RGE-300-12V,
HZY-5050RGE-B0D-12V, HZY-5050RGE-600-24V

Product fradem ank: Nis

This verification confirms that the produc! mesis the mquirements of the Tallowing standard,

The corformity was demansimaled based on foliowing standard(z) listed by Eurnpaan Commission as
harmonized with Direclive RoHS 2.0 Directive (EU) 2015863 and (ELH2017/2102 amending Annax || to
Directive 201 1E5/EL

IEC B2321-1:2013 |EC 62321-3-1:2013
IEC 6232 1-4: 201 FAMD12017 IEC 62321-5:2013
IEC 6232 1:8-2015 IEC 62321-7-1:2015
IEC 62321-7-2: 2017 IEC 6232 1-B: 2017

The verfication has bean carmed ouf in accordance with individual rufes and condifions agreed with the
applicant. Evaluafion has beer camed ou in Sccordancs walfi:

Test raporifz] No.: MK23020083-P01C01

Test comducled biy: TMC Testing Services (Shenzhen) Co., Lid
Varificabion issue dale. Fabruary 25, 2023

Notes:

This verification refers lo the above mentioned procuct and its conformity in regars of above
mentioned standands) was proven on lest sampie.

Thiz verification does rotimply meeting all essential reguirements. assassment of the
senes-produchion or any other restricted Notifed Bodies confomily assessment procedurne
appropriate for e procict,

Thiz verification hoider shall use e verfieation in conneetion o vericalion of eonfommity and
techinica data redevant for the product the vemicalion was issued

TMC Testing Services (Shenzhen) Co., Litd.

1:B6-T55-86542801 cori@mecdab.com www imedab.com

1st Floor, Block A1, Zone A, Xinshidai Gongrong Indusirial Park, Ne: 2, Shihuan Road, Shivan Sireat,

Banan Distict Sharchen, China

(=] [m]

T™MC




